
[MAIN IDEA:] apply all invertible rules first, then
apply the non-invertible ones.

· invertible rules -- can apply eagerly without
even needing to backtrack.

· nominvertible rules - correspond to a choice.
If itfails, you needto backtrack!

first, apply right invertible Rules

↑; i)A
until you reach a noninventible succedent

↑i) c+

↑;i C+not Right
invertible

Then apply all left invertible poles in order

(O is ordered, I is not). If a formula is
not left invertible just transportit to P!

T,A; i =C+

↑jis t



Do that until b=s (is empty). Them
start making choices

↑ atbacktracking]Nic ) Ct S needed
After making a choice we will

want to apply inversion rules again,
so choices usually continuesas
or. We keep doing that until
all branches failor we reach an

axiom like:

↑;ch,t=c+ T; 2 =) T

OR

PET

↑=> P



↳invertible(X, T,3)

↑jAT;D B

T:0) ArB

TiDT

Ti &, AB

Pj0> AsB

AlightImv (P, V. 1)
↑;D=P

↑j0P

↑;) AVB

↑; & => AVB

↑==> I

↑jD I



Left Invertible (X, T, V, t, T, 1,
1, vx)

↑; &, B, Act ↑, c+

↑; P, ANB c+ ↑, , T =c+

↑iD, AT; D, B=c+

↑: ,Au ct ↑;,t c+

↑;) c ↑; &,A)D+

↑jc +xA =c+ ↑; 0,TA Dt

T: 0, Ax(Bx)=D+ T:D, APC,Bx=> Dt

↑; 0, (AxB) > c => D+ ↑i D, (ArB) > D+



Not Left Inventible (P, PC,

↑, P; =ct

↑..P =c+

T.P>A:D =c+

↑. &,P>A c+

↑, (A > B) > c: =>D+

I.,(A- B) x=) D+

Nothing in 1:

i =c+

↑, ct



Choice - Right noninventible (V, P.

Are Be
P =P

↑ P

Choice-left nominventible

PET ↑:A) ct

↑, P > A C+

↑;c D+

↑, BDC, A B

↑, (AxB) >c => D+

(the end.)


